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The analysis of basic characteristics of planar Frequency-Compensating Antenna 
Arrays (FCAA) is done. The simple analytical estimates of peak sidelobe level and 
pattern main lobe width of planar FCAA are obtained. 
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���� �� ����
� ���� ��� �� �� ��������� �������� ���� 
M(7,5,4)={(0,0),(2,0),(3,0),(3,1),(2,2),(0,3), (4,3)} 
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��� χχ � ������������������	�5��������	�	����������#
����	�� ϕθ=χ ������� ; ϕθ=χ ������� . 
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��	�� ������ �	��� ≤θ≤ , ����� ≤ϕ≤ � ��� ����	��� �����	�� � �� �� χχ  

������������������������	�������� 	�� ≤χ+χ �� . 
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�������	�� ��
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����� ��� ��	!����.����� ����������'���	�

�����	�	��������.00 = N. 
1�����������������	����
����	!������
�������Tx = 26(kdx)

-1
����9x��������Ty = 26(kdy)

-1
����9y. 
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����#���� ���!
������������������� ��!��������	�	� �9x , 9y) = (9�x + gTx , 9�y + hTy����
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!
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 �� ���� �����	��32)$� ���
� ���!��� �	��'�� �� � ���� �����	��&)$� ���	�

��������
������������	������'��!���������������
����	�� 
��1����/���1������2�-��1��(.�������������32)$�������������������������+��������-

�
�	�������� ���������	�� �������������	���	��$8�� ��������������	����� �
�
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�� � �	������'��!��	� �
�	����� 4
� �����
�� ��� �	��� ��� ��� ������ ����� 
��� �
�������	�

!	�������������������(.����������	��������32)$��/���������	�������	���	�������+��"�

(48, 41,�
��������� 
�������	���
�����������	��	����	
��������	������� ��
������	������– dx 

= dy = d,���!	��
����������	�	����������������
�����!�
���� 	�����	���λ=1,025d.�)������
������������(.������32)$������������������	���	�����	�������	���
�'�������
�
�	��'���

���
������
��-	��
��8���������	�����
����!
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�
����������	�������	����

�(.���������32)$��

(��� �����
���� �� ��� ���
��	� ���
�� +	���� �� ��������	�� �� ���� �� �����
� !���	��� ����

��
��������� ����'� ������	
� ��� �����
������ .�� = N� ��� �	�� �����������������

������������ 
������������$1)$���N�(N –�	���	������'��!����������
�	��������������������

(2Nx – 1) � (2Ny –�	����������:���	���������
�����	������'��!���������$1)$�����	���������

�
����� �� ���������� ���������� ������ �����	���������� ��������	�������� ��������� �����	����
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����������������������������� 
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�
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����	���
�����������
�������	�!	�������������������$8����������������
-
�
�
���	��
�����	�� 32)$�� �����	�� ��	�� ��	���	
� ��� ������������� ��
�
�#
� ���!
���� $8�� ���	-
����������	���
����#������
���������������
����K� = N⋅(N – 1)/[(2Nx – 1)⋅(2Ny –�	����������

���������	��32)$������������+�� 
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���� �� ���������� �!�  ���
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 ��-���������
 ����  
��� 
��"���#��� �� ������� 

+������������
�
����� �	�
��� ���������	�	�����$8����������32)$� ��
�#������� ��

������� ���������� �	������'��!��� ��������
��� N �� �������	� ��
�#���������������
����

N2
����!
���������
�������C00 = N��3	��
�������������	����&-"�������'������ 

�
�

���


���
��� ≈        (4)  

�
��
�#
����!
������
�����������!	�
���	��������������32)$���N ≤ 25, ������#
�– N ≥ 150. 
4������,���1��,�����2�-���"��N-���0��-��9��(������ �	��
�#����� ��������-

������������&)$��������
������������ ������	����������������������Nx⋅Ny �	������'��!����
��	� �	��������� ���� 
���� ��������32)$� �χox = χoy = 0) �	������� �� ��� 	��'� ��	��� λ, 
#	�	��� ���������� �
�'����� ��� ���������� ��� ������ �����	����� ���� ������ �� ���������

�
�
�����ϕ�������	�� 

�
��

��
���	
� ϕ

λ≈ϕλθ∆
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�
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�������������	���32)$����
�
�����ϕ��+��������������
��������
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� ��	
�
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���∆θ0,5���������	�����!
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�'�����32)$�����'������

���������������������-�������#���$1)$�����&)$� 
��	� ��������� �����#
���� ������� �����	���� ������ Nx/Ny�� ������� L(ϕ��� ��	
� �	���	�-

���������� �� ����� �����#������� �����	!��� ����
��� �� ������� N�� ����� #	�	��� ����
��� ����

����'��������
��
�����������
��������������	������'��!������������������������	��&)$��

������	��∆θ0,5 ��
�#���������������
��� .N  
,���� 
��� ��� �	��� 
� ������� 32)$� ��	� λ=1,025d ���� �� ����	��� ϕ = 0�

� #	�	���

�����������
�'��������������������������∆θ 0 = 2,4�
����������������	��������� ������∆θ0,5 = 

1,1�
����
����#	
������	
��
�'����������������	��θ, ϕ��
��
�
�	������
����-	��
��8���(���

������������ ���-
�
�
����� ���������������� �	������� &)$� �� 
� ���
��
!	�	� ���� ����	�

������������������
�'����������������  dx = dy = 0,86λ)  ∆θ0 = 19,0o,  ∆θ0,5 = 8,5o
���$8�������
�

(-	�����8����������
	�
�-
�
�
�����&)$�����∆θ0 = 2,8o, ∆θ0,5 = 1,28o
��$8�������	���-	
����8����

��
� 
�����	���ϕ = 0�. 
����1������������-����-��������1��������0�-��1����������(����������-����-

�	�������
��������	
��	���!���#	�	��������������
�'����� ��$8�������	��32)$��������-
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 �������������������	���������������	���	�����	��

32)$� �� �����	!��� ���������'� �����'� �����	��� �Nx ≈ Ny, dx = dy, θ0 max = θ0 = 0). 
2�� 
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